
Messung Auswertung
Nr. t, in s t2 in s VI in 10-5m/s v

2
in 10-5m/s r in 1O-7m Q in 10-19As Qc in 10-19As

21 3l,c9 1ft, 'j 1,]'1 7, --1( s. (J 2,41 --1, 11
22 J2, t 45',2 3,27 +,0< S""p 2,-1" -1( "11(

23 27,3 ~'7, ! 3,Klf S(~1 6, ()" '2., ---11- --1(1'2.
24 J&I,] -11,1 '1 J,S-Z 6,J~ 1,-; 1( 2,-1() -1,"16-
25 9,1 ]1,V -'1-1, 91 2{ rs: --1(h' '1 !J-; so 1.>-, 2J
26 q/t) 4-(, 1 -1-1,t.> 2,Sj -'1tJ,b~ s-, '''f s, (J(
27 11,! 114 '9,~" --1y( 1t-1 1/ 21- tf-J• '1.6 I h (Jf
28 J~, lf -1314 2, 1-1-" ~1,gt S-/~7 -1, 1~ -1, '-1..... ." ~ !.•.••~.:'. -
29 Jb( ~

'..~'·',·e4 .~'\ '

~ '1( '.11,f) 2, 52. ~ S", 17 2, -rs ,
e

30 Jf,'
,I ~-13/J 2, '1( f.kl7 St/fJ -t. g6 4fS-!1

31 t,-1 .-1-1, ] 20, e 2. ~, v-It 4v, -!() -4Si I, 4ft,.s-e;
32 lf,1iJ -1~,l 21,17 4&,41 -ty,31 46,Q? --1.)/ t- Z
33 -e.s -1'1, J 5", t 7- Q;', ~4 '1, J V. 4, () 7- 1,S-1
34 -1!, l .42{l s,Ir !,1-~ 7,ft( 1, q1 s, ~S-
35 ,;ft(-1 11, J I, Z lf qt It~ f-If-() 4," Z 1,R~
36 -14, '7 4t,3 I, '2.' (, e« ;/14 1ft Zo 1(t'J'
37 4f,3 4~,L " 17- {,JI 1,4f.( 4/()y J, J?
38

4~, tj 16,J f,4( t,Jf ?,2r "t-lft 1f(]
39 21, , 2' I f y,9v Lt,(f}() tr rs: L-t2Cr ./f, q 2.
40 2f,1 z j, , '-f, is 7, S" 'f I, ]( ~'f P 2.. ~ry

~;
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